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BACHELOR'S DEGREE PROGRAMME 

s; 	 Term-End Examination 

June, 2018 

k-r) ELECTIVE COURSE : COMMERCE 

ECO-013 : BUSINESS ENVIRONMENT 
Time : 2 hours 	 Maximum Marks : 50 

(Weightage 70%) 

Note : 	Attempt both Parts A and B. 

PART - A 

1. Attempt any four of the following questions : 
(a) How is business affected by the 

environments at different levels ? 	5+5+5+5 
(b) Describe briefly as to how social system 

interacts with business. 
(c) Describe the main sources of financing gross 

fiscal deficit 
(d) Discuss main measures taken by the 

government for restructuring public sector 
understakings. 

(e) Describe various programmes for the 
promotion of small scale industries. 

(f) Outline the main characteristics of MNCs. 

PART - B 
Attempt any three of the following questions : 

2. Explain the various non-economic factors of 10 

business environment. 

3. "Business today happens to be an integral part of 10 
the social system." Elaborate on the statement 
giving suitable examples. 
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4. Name the fourfold role of the government in 2 + 8 
business. How does the government oversee the 
business activities through regulatory control ? 

5. Discuss the three types of roles of Reserve Bank 10, 
of India in regulating the financial activities and 
economic development of India. 

6. What are the main causes of industrial disputes ? 4+6 
Describe briefly statutory and non-statutory 
measures for resolving them. 

7. What is meant by joint venture ? Discuss its 
advantages and disadvantages. 	 2+4+4 

8. What is WTO ? Describe its various functions. 2+8 
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